Length

centimetres + 30.48* - feet
centimetres + 2.54* . inches
centimetres + 91.44* _ yards

feet x 30.48* -, centimetres
feet x 0.3048* -, metres
inches x 2.54*  _, centimetres
inches x 25.4*  _, millimetres
inches x 0.0254* _, metres

kilometres +1.609 - miles
kilometres x 1094 - yards

metres +0.3048* - feet
metres +0.0254* -, inches
metres +1609 - miles
metres +0.9144* - yards
miles x 1.609 - kilometres
miles x 1609 - metres
millimetres +25.4*  _, inches
yards x 91.44* _, centimetres
yards +1094 - kilometres
yards x 0.9144* _, metres

To use: The unit named on the left, wh
gives the equivalent value for

Area

acres +2.471 - hectares
acres +247.1 - sq.km
acres x 4047 - sg.metres

hectares x 2.471 -, acres
hectares +259 - sqg.miles
hectares x 11960 - sg.yards
sg.cm +6.452 -, sg.inches
sq.feet  +10.76 - sg.metres
sg.inches x 6.452 - sqg.cm
sg.inches + 1550 - sq.metres
sq.km x 247.1 - acres
sq.km +2.59 _ sg.miles
sqg.metres + 4047 - acres
sg.metres x 10.76 - sq.feet
sg.metres x 1550 - sq.inches
sg.metres x 1.196 - sqg.yards
sg.miles x 259 - hectares
sq.miles x2.59 - sq.km
sg.yards + 11960 - hectares
sg.yards +1.196 - sg.metres

en x or + by the number in the middle,
the unit named on the right.

* means the conversion is exact. All others are approximations.

Caution. While every care has bee
no guarantee is given, or implied,

n taken in the compilation of this document,
as to its accuracy.
© Frank Tapson 2004

The Pocket
Guide to
Converting

Measurements

A handy list of what is
needed to change units in
one system of measures into
those of another system.

To make: print (or copy) this and the following page back to back on a single sheet of paper or light card.
As a check on alignment the positions of the two M’s should match (to within 2 mm. will do).

Cut around the marked outer rectangle.

Score aong the two remaining lines. Crease and fold along these lines.

The dashed line should be a ‘hill fold’, that is the line is on the outside of the fold.
The plain lines should be a ‘valley fold', that is the line is on the inside of the fold.

The whole thing, stood upright, and looked down should resemble a Z.
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